	INDICATOR
	TRANSLATION!
	WHAT DOES IT TELL US ABOUT A COUNTRY?
	SOCIAL OR ECONOMIC?

	GNP per capita
	[image: ]
	
	

	Literacy rate
	
	
	

	Infant mortality
	
	
	

	People per doctor
	
	
	

	Newspapers per 1000 people
	
	
	

	TV ownership per 1000 people
	
	
	

	Life expectancy
	
	
	

	% people employed in farming (Primary industry)
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	INDICATOR
	United Kingdom
	Bangladesh

	GNP per capita
	$35,000
	$1,600

	Literacy rate
	99%
	47%

	Infant mortality
	5 per 1000
	58 per 1000

	People per doctor
	2.2 per 1000
	0.26 per 1000

	Newspapers per 1000 people
	332 per 1000
	6 per 1000

	TV ownership per 1000 people
	1,100 per 1000
	7 per 1000

	Life expectancy
	79
	60

	% people employed in farming (Primary industry)
	1.2%
	45%


 (
Complete the following 
paragraphs using the statistics provided.
The United Kingdom would be classified as an _________
_ ,
 compared to Bangladesh which would be classified as an ___________
 
.
The GNP for the United Kingdom is
 __________
, this means that it can afford to __________ more of its population compared to Bangladesh, which has a GNP of _________
_ .
 There will be more teachers and better 
access to schools and universities
.
A better educated population with a higher GNP means that people are likely to have better access to 
__________ care. This is reflected in the figures
,
 as people in the United Kingdom live to _________
_ ,
 compared to people in Bangladesh who live to __________ . Educated mothers are more 
likely
,
 and able financially,
 to look after their health during pregnancy and their babies after birth, better healthcare facilities means that both mothers and babies are more likely to survive. This is shown by 
t
he _________ mortality figures, 
i
n the United Kingdom ________ per 1000
 infants
 die, compared to Bangladesh where _________ per 100
0
 die.
A higher GNP indicates that the population will also have a better diet, which will extend life _________
_ .
)














 (
MEDC
- More Economically Developed
 Country
LEDC
- Less Economically Developed Country
)

	Country 
	A 
	B 
	C 
	 (
Consider the statistics in the table-
Which of the countries do you feel is an LEDC? Explain your thinking.
________________________________________________________________________________________________________________________________________________________________________________________________________________
Which of the countries do you feel is an MEDC? Explain your thinking.
________________________________________________________________________________________________________________________________________________________________________________________________________________
Which of the countries is an NIC (Newly Industrialised Country)? Explain your thinking.
________________________________________________________________________________________________________________________________________________________________________________________________________________
Which of the data sets do you feel is incorrect? Explain your thinking.
________________________________________________________________________________________________________________________________________________________________________________________________________________
)D 

	Life Expectancy
Yrs 
	47 
	74 
	42 
	78 

	% Literacy Rate 
	25 
	91 
	100 
	99 

	% Primary employment 
	47 
	39 
	5 
	1.2 


 (
What criticisms can you make of using data
,
 like in the table above
,
 to judge quality of life?
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
)

 (
HDI 2009
- Top Five
)
	1 
	Norway 
	0.971 

	2 
	Australia 
	0.970 

	3 
	Iceland 
	0.969 

	4 
	Canada 
	0.966 

	5 
	Ireland 
	0.965 


 (
Human Development Index
) (
The Human Development Index (HDI) is an alternate way of measuring development.
A score is given between 0-1, based on a composite of three indicators.
 The closer to 1, the more developed the country.
)
	Indicator
	Statistic used

	Health
	



	Education
	



	Wealth
	




 (
Does anything surprise you about the top five countries? Why do you think this is?
_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
_
) (
Why the Human Development Index?
 It does not rely solely on 
wealth;
 it gives an indicator of quality of life by including health and education.
By including education it 
gives an indication of the country’s future development potential.
 It reveals how a country uses it wealth. Fo
r example, if a country has
 a high GNP, but spends little on education, it will have a low HDI.
)

	 (
HDI 2009- Bottom Five
)5 
	Burkina Faso 
	 (
Afghanistan is 
second to last i
n the HDI
 list
 for 2009. Thinking about the statistics used to calculate the HDI, can you offer explanations to explain this result?
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
)0.389 

	4 
	Mali 
	0.371 

	3 
	Central African Republic 
	0.369 

	2 
	Afghanistan 
	0.352 

	1 
	Niger 
	 (
People have been critical of the
 human development index-
Some countries do not submit data 
because they are unwilling or not members of the UN. 
 For example, 
Zimbabwe- 2009.
It puts emphasis again on economics
, rather than spiritual and moral development- happiness- should suicide rates be used?
It doesn’t include ecological concerns 
or the quality of the living environment.
Due to the calculation between 0-1, ‘
rich’ countries can do little to improve their ranking in certain categories- 
despite developments.
Despite being a composite, 
it adds little to just using the individual statistics.
)0.340 


 (
Which continent do the majority of these countries come from?
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
)
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